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SLA-336

B.A. Part-III (Supplementary) Examination, 2022

ECONOMICS
Paper - II (Gr.-A)

(Statistics and Mathematics)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

M —

Note —

M —

Note —

e —

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I8) | Yo WY 2 3 T §|
Section-B (Marks : 7 x 5 = 35)

Answer any five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(TUs-) (3% : 7 x 5 = 35)
fordl ol 9l & ST SINT1 T U9 | faehed o1 wEA wifST (STR-EE
200 ¥1%) | Y&F YA 7 IF H R

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tue-w) (3 : 15 x 3 = 45)

o | fe=l @9 gvH & Sw ST (SW-HH 500 Is2) | YAE 9T 15 376
Ealk
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Section—-A
(Tus—=3n) 2x10=20
. (@ Primary Data
mafts THh

(ii))  Relation between Mean, Median and Mode

THRR e, Afeent SR aged H O
(ii1) Formula of coefficient of Karl Pearson’s skewness
Fd dEEA & fawma e w9

(iv) Importance of Index Number

qAHTH H HEA

(v) If the two regression coefficients are .64 and .81 respectively, find the
coefficient of correlation.

g T IATTHA TONE HE: .64 T 81 T A TeEErY TONE AT HIfT |
(vi)  Probable Error
e fayd

(vii) Assumption of Interpolation

STATUE &1 AT

(viii) Components of time series
FA SN & HEH

(ix) Calculate (A + B), if :

SR T
(A + B) 9 =ife, =fg :
SR T
(x)  Find out the remaining class frequencies :
(A) = 150, (B) = 100, (af) = 180, N = 350
31 =t W STl 9 RIS
(A) = 150, (B) = 100, (af) = 180, N = 350
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Section-B

(@ue—a)

2. Discuss the various methods used in the collection of primary data.

mafaes TH I ThHT Hid i Afqal i A HITST |

Or

(3=

Determine the value of Mean and Median in the following frequency distribution :

Size 10 15 20 25 30 35
Frequency 7 S 12 18 8 4
fre1 emgfa sie ® wrea SiR Aifems 9eg 91 Hifwg
L 10 15 20 25 30 35
?ﬂﬁjﬁl 7 ) 12 18 8 4

3. Difference between Dispersion and Skewness.

STafeRtor 3R faomar § =R TdEu|

Calculate the Bowley’s coefficient of skewness from the following data :

Or

(3=

Marks 10-14 | 15-19 | 20-24 | 25-29 | 30-34 | 35-39
No. of Students 12 29 59 75 46 19
= Ik @ a13al &1 faomar Tons 9 Sy
FIIED 10—-14 | 15-19 | 20-24 | 25-29 | 30-34 | 35-39
BN SRl TE&A 12 29 59 75 46 19
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4. From the following data, calculate Spearman’s coefficient of correlation :

X 75 88 95 70 60 80 81 50
Y 120 134 150 115 110 140 142 100
oo vl ¥ TfeRET &1 Tedwry TUie T SIS
X 75 88 95 70 60 80 81 50
Y 120 134 150 115 110 140 142 100 7
Or
(31<ra)

Find the most probable price in Mumbai corresponding to the price of ¥ 70 at

Delhi from the following information :

Mumbai Delhi
Mean Price % 67 % 65
Standard Deviation 3.5 2.5
Coefficient of Correlation 0.8

Frafafea s ¥ fFdt asg &1 g=E § Iv9e ged 9 &g afe ot # 35 a5

FHA I 70T ¢
g et

AR HIET HH % 67 % 65

A fa=er 3.5 2.5

qEHwY UM 0.8
5. Apply the method of semi-averages for determining trend to the following data !

and estimate the sale for 2022 :

Years 2015 2016 2017 2018 2019 2020
Sales ('000 units) 20 24 22 30 28 32
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/= Tuwl ¥ g-mege Ofd gro SwAfa Id &ifse qen 2022 & fau genfaq fasnt

AT ST

Er) 2015 2016 2017 2018 2019 2020
fa (1000 gehreay) 20 24 22 30 28 32
Or
(3ere)

3+4=7

Estimate the annual profit for 2007 from the following table (use Newton’s

method) :

Year 2005 2010 2015

2020

198 573

Profit (in lakhs) 73

1198

freifera ARelt ¥ 2007 & fAw S1fties oy 61 379 ormey, (e fafy 1w wifsw) -

L 2005 2010 2015

2020

198 573

A (e 1) 73

1198

6. From the following given class-frequencies prepare a Nine-square Table. Compute

Yule’s coefficient of association and interpret the result :

(A) = 380, (o) = 1120, (AB) = 280, (B) = 1150

e v o s § T Ao e TR FIC SR qe - O

iU Shifsw iR 9fiomm =i =ae sifsu .
(A) = 380, (o) = 1120, (AP) = 280, (B) = 1150

Or
(3Tera)
1 2 2
If A=|2 1 2|, prove that A2—4A —51 = 0
2 2 1

1 2 2
aﬁ:A[z 1 2},@?@@%11%#%51:0
2 2 1
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Section—-C

(Tus-=)
Interpolate the missing figures from the following data :
Years 1990 1995 2000 2005 2010 2015 2020
Value 100 120 150 ? 210 ? 320
1 sifhel ¥ ST9IG Hod &1 STIUIUA SIS
EL| 1990 1995 2000 2005 2010 2015 2020
L& 100 120 150 ? 210 ? 320 15
8.  From the following data calculate Mean, Median and Mode :
Marks No. of Students
Below 10 25
Below 20 40
Below 30 60
Below 40 75
Below 50 95
Below 60 125
Below 70 190
Below 80 240
=1 9 | wrem, AT a9l Yfass® T SIS
10 & &H 25
20 § &H 40
30 ¥ A 60
40 § %A 75
50 ¥ =9 95
60 ¥ wH 125
70 § =9 190
80 § %4 240 3+547=15
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9. From the following data calculate Fisher’s Ideal Index Number. Does it satisfy

both the Factor and Time Reversal Test ?

Base Year Current Year
Item Price Quantity Quantity Price
A 4 60 120 2
B 6 50 56 10
C 2 100 60 6
D 8 40 36 12
E 10 30 24 12

1= Twsht ¥ fRYR &1 oTeyl gahier 1 Hifae IR fag st fF 97 seet g9 v

ShTAT 3R e SRl TEl Sl S i © s

MR T =1e] au
g Hiad e R e o)

A 4 60 120 2

B 6 50 56 10

C 2 100 60 6

D 8 40 36 12

E 10 30 24 12
5+5+5=15
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10. Calculate Karl Pearson’s Coefficient of Correlation between age and playing

habit from the following data :

Age 15 16 17 18 19 20
No. of Students 250 200 150 120 100 80
Regular Players 200 150 90 48 30 12

=1 SRSl ¥ o1 IR BeM i SAEd & Hed el T 1 Fearsre o 1 HIy @

3 15 16 17 18 19 20
faenfoi st "= | 250 | 200 | 150 | 120 | 100 | 80O
frafua feere 200 | 150 90 48 30 12 15

11. Solve the following equation by Cramer’s Rule :
x+y+z=3
2x + 3y + 4z =9

x+2y—-4z=-1

Sl lic i R Al lca s L

x+y+z=3
2x + 3y + 4z =9

x+2y—4z=-1
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